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Teacher, Student


Teacher:
How would you explain to someone else how solution one –

Student:
Where does the 60 come from?  Where does the 11 come from? 

Teacher:
Okay, so when you’re looking at solution number one, how do you explain what’s happening in that problem?  Where did we get the 300?  Where did we get the 60?  Where did we get the 11?

Student:
We got the 60 from 40 plus 20.

Teacher:
Okay.  Where did we get the 300?

Student:
We got the 300 from the 100 and the 200.

[0:27:00]

Teacher:
Okay and where did we get the 11?

 Student:
We got the 11 from the five and the six.
Teacher:
So we added the ones place and that gave us the 11.  We added the tens place and that gave us the 60 and then the hundreds so that gave us 300.  How did we get 371?

Student:
Because we added 300 plus 60 plus 11.
Teacher:
Excellent.  So do your best to put into words what you just explained to me, because that was some really good explanation.  And then the bigger step, the bigger trick to this is gonna be to figure out what’s happening in solution two.  And so that’s what’s going on with question number three.  But for now, all those great ideas that you just told me on paper from solution two.  Good job, guys.

[0:28:00]

Multiple students:
[Students working on the problems]
Teacher:
Excellent.  So we’ve already talked about the 300 and we talked about the 11.  Where did the 60 come from Student T?

Student:
The four and the six.

Teacher:
Is it really a four and a two?

Student:
The five and six.

Teacher:
So can you see the relationship, Student T and Student F?  Can you see the relationship between solution one on the board and the place value solution that we did on the board?

[0:29:00]

Student:
Yeah, ‘cause I saw that – it’s like you’re adding different because you’re just adding hundreds and tens to that and you added this.  So it would just be a different way to do the place value.
Teacher:
Okay, excellent.  So all it does is take our place value and instead of putting it side by side, it just puts it on top and it eliminates some steps.  ‘Cause instead of having to write out 100 plus 200, I just add them right there and get 300.  Instead of having to write out 40 plus 20 like on the board, I just know that 40 plus 20 is 60.  Instead of having to write out five plus six on the board, I just know that five plus six is 11.  So this is slightly more efficient, but like Student F just said, it’s just another way of doing place value.
Student:
Yeah, this is another way – a more efficient way ‘cause you see how you do one plus – 100 plus 200 is 300 then 40 plus 20 plus the 10 that came from the 11.
[0:30:00]

Teacher:
Okay, good.  That’s the best way that I’ve heard that described yet today.  Here’s what I’m gonna tell you.  When you’re doing the traditional algorithm, where should you start?

Student:
You should start with –

Teacher:
What should be the first thing that you add in a traditional algorithm.

Student:
The five and the six.

Teacher:
The five and the six, okay?  So Student T, when we’re doing a traditional algorithm and we start with the ones place and we start with the furthest right, on the board with the place value, and here with solution one, we tart by adding the hundreds first, and that’s okay for this but in a traditional algorithm, we’re gonna add five plus six first so that we get 11.  But I don’t see 11.  Pay attention to this.  I don’t see 11, I see one.  Now you say what you just said.

Student:
You see one, and then when you see the ones you pick up, you pick up 10 and then add it to this to get this.  So it would be 10 plus 40 plus 20 and that’ll get you to 70.

[0:31:00]

Teacher:
So this is what we’ve been struggling with a little bit, right, ‘cause all of a sudden we have a new set of tens.  So we don’t try and squeeze them both in down here below the line, we take the one from the ones place and that stays in the ones place.  And then we put the 10 – and like Student F says, we bring it up here into the tens column and we add it to the 40 and the 20.  Very good explanation.  I’m sorry I didn’t let you do it five minutes ago, but I couldn’t have you ruin everybody else.
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